MATH 112 Spring 2012 Name: SO/ ud-r on§

Exam 3 Section:

In order to receive full credit, SHOW ALL SUPPORTING WORK. Enclose your final answers in boxes.

1. (15 points) Evaluate.
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2. (15 points) Determine the radius and interval of convergence of Z
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3. (12 points)

(a) Write function f(z) = ﬁ as power series. o [.,. X A ' 1. = (-l)vl XK
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dz. (DO NOT ADD TERMS).
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(b) Use the first three terrm of the answer from (a) to estimate /
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(¢) Determine the upper bound on the error of the approximation found in (b).
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4. (8 poiuts) Determine whether Z

converges absolutely, converges conditionally, or (hvergeq
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5. (32 points) Determine if the following series converge or diverge. State any test used. Find the sum when

possible. ‘ 3
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G. (8 points) Estimate the area under the curve on [0, 4] using Simpson’s Rule with n = 4.
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7. (10 points) Consider the sequence with general term a, = 25
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(a) Determine if the sequence {ay,} converges or diverges. If it converges, determine what value it converges
i

to.
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(b) Determine if the the series Z ap converges or diverges. Show all necessary work and state any test
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